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10.22 Design a nine-turn helical antenna operating in the axial mode so that the input impedance is
about 110 ohms. The required directivity is 10 dB (above isotropic). For the helix, determine
the approximate:

(a) circumference (in Ay). (b) spacing between the turns (in ko)
(c) half-power beamwidth (in degrees). '

Assuming a symmetrical azimuthal pattern:
(d) determine the directivity (in dB) using Kraus’ formula. Compare with the desired.

e Assume axial feed. Hint: Use Kraus’ directivity formula.
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